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function qd = Ispb_qd_acc(u) % 17212 B2
901 = u(1): q02 = u(2); kst U
afl = uf3): af2 = u(a); o
tf = u(5) :dnm = n
al =u(B); qd2 = q02;
a2 = u(7); gdd2 = 0;
t = u(B); addd2 = 0
elseif (t>0 & t <= thl)
i1 qfl > qo ad! ::JEH +al+thl/(2¢th1)+t"2;
thi = tf/2-(sart (al*B+t1*2 = deal«(at1-g01}))/(2xal}: i
Blse ad2 = q02 +a2+th2/(2+th2)+t"2;
ac =—al; add2 = a2st:
thl = ti/2+(sart(ac*2et{"2 - deacs(af1-a01)))/(2sac); L
wnd [PEEE
elseif (t > thl & t<= tf-thl)
ail > a0l adl = (qff+q0I-V1+t{)/2 + alsthist
I1afl >q a1 = vi;
V1 = al+thi: :ddd\ :vl‘l
else qd2 = (qf2+qD2-V2stf)/2 + a2+th2st ;
al =—al: gdd2 = v2;
— - - ddd2 = 0;
414 ;j—au 751 JT_X'" V1 = altbls 15300 2o
end elseif (t> tf-tbl & t<= tf)
adl = qff - al/2¢t{"2 +alstfst — al/2+t™2;
if qf2 > ql2 addl = alstf -alst;
th2 = tf/2-(sart(a2"2+t1°2 - 4+a2+(af2-q02)))/(2+a2); addd] = -ali
else qd2 = qf2 - a2/2+t{"2 +a2stfst — al/2+t°2;
ac =—a2; qdd2 = a2«tf -a2s+t:
£h2 = t1/2+ (sart (a0 et 172 - deace{af1-a01))) /(Brac) -
end adl = gft;
gdd! =0:
it gt > qo2 addd] =0;
V2 = a2ith2; i
else gdd2 :?v
23 ——ap: EndﬂdddZ =0;
V2 = al+th2:
end qd =[ad! qdd! qddd] qd2 qdd2 qddd2]:
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490 >> rll = [-L1/2; ; 0; 0; 1];

>> rll = [-L1/2; 0; 0; 1];
>> r22 = [-L2/2; 0; 0; 1];

>> r22 = [-L2/2; ; 0; 0; 1];




